TESX T HX

13-48-R3-C 48eS 8%

= i E Fs B & E B IE g =
= (rom No. (/) (Pa) (Pa) B | EIIE
1 1507 1022 906
2 5390 1082 a1y
1250 3 6144 1115 o0l <78 a4
1 7049 1140 858
" 5 7586 1162 8%
1 5228 1375 119
7 6253 1456 1234
1450 3 7127 1501 1213 <8 5.5Ki-4
4 8177 1634 1164
5 8300 1650 1110
1 4189 718 665
2 5604 808 683
960 3 7708 81 638 <77 -4
1 8697 87 586
L5 5 9493 866 513
1 4800 043 860
2 6754 1060 897
1100 3 8632 11 838 <8l 5.5K-4
4 9965 11% 769
5 10877 1137 713
1 4809 567 514
2 5818 607 529
750 3 7712 647 510 <74 -4
1 8978 651 166
5 10190 651 11
1 6155 929 812
2 7447 904 867
5 960 3 9871 1059 836 <79 5.5KW-4
1 11491 1066 763
5 12000 1068 731
1 7053 1220 1106
2 8533 1306 1138
1100 3 10000 1364 113 <83 7.5K-4
1 11311 1301 1007
5 12800 1399 1023
1 6756 711 646
2 8174 761 665
750 3 106% 811 643 <76 .5Ki-4
1 12613 816 586
5 14317 816 522
1 7657 914 830
2 9264 977 854
850 3 12280 1042 825 <78 7.50H-4
1 14294 1040 755
5.6 5 16226 1049 671
1 8738 190 080
7 0571 o7 113 <78 7.5KW-4
n RV
5 8400 366 880 <8l 11kh-4
1 277 730 154
2 978 3 218
1030 3 1995 1% %51 <8 11kH-4
1 4880 530 o1
5 7000 511 126
1 8632 716 678
7 10377 708 701
680 3 13975 856 681 <80 7.5KW-4
4 16686 878 629
5 10247 891 560
1 9901 980 892
2 11903 1050 w3
6.3C 780 3 16030 1126 8% <8 11kH-4
1 10140 1155 828
5 22078 1173 731
1 11424 1306 1188
2 1373 1397 1229 < 80 11kH-4
900 3 18000 14% 1205
1 22084 1638 1102
5 23400 1652 1063 <8 L5k
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1 12313 1516 1380
2 14803 1623 1427
6.3C 970 3 17468 1696 1423 <83 15kW-4
4 19934 1741 1386
B 21000 1759 1365
1 10902 737 680
2 15466 824 710
600 3 19415 860 679 < 82 11kW-4
4 24309 881 598
B 27018 886 537
1 11992 891 822
2 17012 997 859
7C 660 3 21356 1040 822 < 8 15kW-4
4 26740 1067 724
5 29719 1072 649
1 12719 1003 925
2 18043 1122 966 <85 154
700 3 22651 1170 924
4 28360 1200 81b
B 31520 1206 730 < 87 18.5kW-4
1 18015 1000 899
2 22119 1085 933
640 3 26200 1149 935 < 87 18.5kW-4
4 29186 1178 913
5 33511 1217 867
8 1 19141 1129 1015
2 23501 1225 1053
680 3 27838 1297 1056 < 89 22kW-4
4 31010 1330 1030
B) 35605 1374 979
1 26573 1022 882
2 31476 1081 885 < 84 18.5kW-6
540 3 38000 1126 840
4 40259 1142 820 <g 2N-6
o 5 43000 1152 786
1 28541 1179 1018
2 33807 1247 1021 < 87 22kW-6
580 3 40815 1299 969
4 43241 1317 946 <90 30K6
B 47689 1336 885
1 34426 1126 972
2 40778 1191 974 < 85 22kW-6
510 3 43000 1206 965
4 52156 1258 903 <% 0K=6
100 5 55000 1266 872
1 33431 1293 1217
2 39902 1333 1223 < 87 30kW-6
550 3 48988 1419 1106
4 52843 1247 1056
<90 37KW-6
B 59000 1162 924
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Al ml x b1=A2 A3 B1 m2 * h2=B2 B3 n-d D1 D1 D1 nl-d1

4C 361 101 x 4=404 444 250 145%2=290 330 12-@7 405 440 465 8-o12

4.5C 406 112 x 4=449 489 280 107 = 3=320 360 14-@7 455 490 520 8-®12

5C 451 | 123.5x4=494 | 534 315 118 = 3=3%5 3% | 14-®10| 500 540 570 8-»12

5.6C 506 110 x 5=549 589 o 132 = 3=395 435 | 16-®10| 560 610 640 12-014

6.3C 569 123 x5=614 656 400 111 x 4=445 490 | 18-®10 | 630 680 710 12-®14

S R~F

L L1 L2 L3 L4 L5 E1 E2 E3 E4 E5 E6 E7 E8 h axb
4C 585 | 301 | 180 | 523 | 438 | 950 | 890 | 750 | 367 | 312 | 290 90 290 | 140 | 420 [13x20

4.5C | 615 | 339 | 195 | 583 | 489 | 1070 | 1000 | 840 | 417 | 361 | 290 90 320 | 140 | 420 |13x20

5C 689 | 377 | 212 | 643 | 540 | 1160 | 1100 | 930 | 457 | 390 | 360 | 105 | 395 | 165 | 430 [13x25

5.6C | 730 | 422 | 233 | 716 | 603 | 1230 | 1230 | 1040 | 514 | 437 | 360 | 120 | 39 | 165 | 500 [13x25

6.3C | 807 | 474 | 265 | 802 | 678 | 1370 | 1370 | 1170 | 568 | 492 | 350 | 140 | 445 | 165 | 500 [13x25




PREEBX FHIXIN = F KR

C 3 (Ne4C ~N0 6.3) BHKE IMERERN TEE
JE180°

m2xb2=B2_ | g

= —+—‘¢—»—
| |
L4 |
| T g
n1-d1\1 B1 l g 2
L [ [l E
|
=== I
I o of = !
6 9 2““7““‘¢‘
|
I
Il
7.4
6013—/||| E6
E4
E1
E5
L
o
T i
b
E3
e ShMIZSE R
'IE‘
Al | mlxbl=A2 | A3 | Bl | m2xh2=B2 | B3 n—d D1 | D1 | D1 | nl-dl | E1 | E2 | E3 | E4 | E5 | E6
4C 361 101 x 4=404 | 444 | 250 145 x 2=290 330 | 12-®7 | 405 | 440 | 465 | 8-®12 | 1400 | 530 | 170 | 430 | 470 | 145
4.5C | 406 112 = 4=449 | 489 | 280 107 x 3=320 360 | 14-®7 | 455 | 490 | 520 | 8-®12 | 1500 | 580 | 170 | 460 | 500 | 160
5C 451 | 123.5x4=494 | B34 | 315 118 x 3=355 395 | 14-®10 | 500 | 540 | 570 | 8-®12 |1600| 630 | 170 | 520 | 560 [177.5
5.6C 506 110 x 5=H49 589 | 355 132 = 3=395 435 | 16-®10 | 560 | 610 | 640 | 12-®14 | 1850 | 755 | 170 | 560 | 600 [197.5
6.3C | 569 123x5=614 | 656 | 400 111 x 4=445 490 | 18-®10 | 630 | 680 | 710 | 12-®14 | 1980 | 790 | 200 | 610 | 650 |222.5
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L L1 L2 L3 L4 L5 L6 H1 hl H2 h2 H3 h3 H4 h4

4C 585 301 312 750 180 523 890 970 447 970 603 830 518 830 392

4.5C 615 339 361 840 19 583 1000 1080 497 1080 663 920 569 920 431

5C 689 377 390 930 212 643 1100 1180 537 1180 723 1010 620 1010 470

5.6C 730 422 437 1040 233 716 1230 1330 614 1330 816 1140 703 1140 537

6.3C 807 474 492 1170 265 802 1370 1470 668 1470 902 1270 778 1270 592
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Al |mlxbl=A2| A3 | A4 | Bl \m2xh2=B2| B3 | B4 | n-d | D1 | D2 | D3 |nl-dl| E1 | E2 | E3 | E4 | E5 | E6 | E7
7C | 641 |137x3=411| 686 | 726 | 485 | 133 x2=266| 531 | 571 |18-®10| 705 | 762 | 800 |12-P14| 2250 | 2250 | 650 | 650 | 762 | 768 |270.5
8C | 722 |128x4=512| 768 | 808 | 534 |116 x3=348| 580 | 620 |22->10| 805 | 860 | 900 (12-P14| 2430|2430 | 710 | 710 | 776 | 818 | 295
9C | 812 [122x5=610| 858 | 898 | 595 | 128 < 3=384 | 643 | 683 |24-®10| 905 | 966 | 1006 |12-P15| 2400 | 2730 | 700 | 810 |1073|1115|326.5
10C | 903 |135x5=675| 949 | 989 | 660 | 140 x 3=420 | 708 | 748 |24-®10| 1005 | 1074 | 1110 |12-®15| 2610 | 2970 | 770 | 890 | 1138|1180 | 359
S R~F
B
L L1 L2 L3 L4 L5 L6 L7 L8 H1 h1 H2 h2 H3 h3
7C 933 2309 | 2259 B8h 554 1280 318 897 1510 | 1590 693 1590 978 1360 806
8C 982 2489 | 2439 602 624 1440 342 1006 | 1690 1770 764 1770 1086 | 1520 896
9C 1325 | 2469 | 2739 678 702 1620 384 1126 | 1900 | 1980 854 1980 1207 1700 998
10C 1390 | 2679 | 2979 753 780 1800 416 1247 | 2100 | 2180 933 2180 1327 1880 1100
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